Dimensional Analysis Worksheet 2

Name: Period Date

Use dimensional analysis (the “factor-label” method) to solve the following problems. Show all steps
needed to convert from starting units to ending units. Indicate all relationships needed before setting
up and solving the problem. Use any of the following relationships if needed:

1 mile = 1760 vds 16 oz=11b 1L=1.057 qts 1 day = 24 hours
lyd=3ft 2000 lbs = 1 ton 4 qts= 1 gal 1 hour = 60 mins
1ft=121in loz=2835g 20z=1qt 1 min = 60 secs
I mile = 1.6093 km 1 kg =2.205 Ibs 1 qt=2pts

1. A runner competed in a 5-mile run. How many yards did she run?

2. Inthe Tour de France, cyclists ride 3,653.6 km

in 20 days. How many miles do they go? [Hint:
watch for unimportant information!]

3. Afier anice meal, perhaps you’d finish it off wi
name of this cake be in gragls? 1 0% witha pound (1.00 1b) cake for dessert. What would the

4. In the US milk is sold by the ile i p
gallon, while in D . ]
would you need to equal one gallon? €1n Denmark it is sold by the liter. How many liters of milk

3. Ifyougoto school for 180

days each
hours are spent in school i 34 SChOOI

ear and i
one school year?y each school day is 7 hours long, how many

Turn over!




Metric Measurement Conversion

Instructions: Use the prefix conversion chart on page 2 of your reference packet to complete the
following metric equalities.

kg = g cm = m mm = m ms = s
km = m cL= L mg = g
K= L mg = g mL = L Mg = g

Use the prefix conversions chart and dimensional analysis (don’t simply “move the decimal point”) to
convert the measurements below as indicated. You can use scientific notation for very large or small
numbers.

1) 40mLtoL 11) 7870 mL to L
2) 5400 L to KL 12) 6.42 mto mm
3) 85gtokg 13) 1850 cmtom

t
4) 52 mgtog i4) 114kmtom

to mm
5) 6300 mtokm 15) 3mio

16) 25Mgto g
6) 2.50kgto g )

17) 74cmto mm*
7 18,600 g to kg

g) 544 mL to L

18) 835 mg to kg*

9) 192Ltomb

10) 425 cm to m

*two-step conversions
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i Date
Name: Answer Key Period

Use dimensional analysis (the “factor-label” method) to solve the follmzving ?roblems. Sl;:;v all s:;r[:s
needed to convert from starting units to ending units. Indi(.:ate all r.elatlonsh‘lps needed before setting
up and solving the problem. Use any of the following relationships if needed:

1 mile = 1760 yds 160z=11b 1L =1.06qgts 1 day =_220h01-1rs
lyd=3ft 2000 1bs = 1 ton 4 gts=1 gal 1hc3ur- mins
1ft=12in loz=28.35¢g 320z=1qt 1 min = 60 secs
1 mile = 1.61 km 1kg=221Ibs 1qt=2pts

1. A runner competed in a 5-mile run. How many yards did she run?
Relationship: 1 mile = 1760 yds

smﬂéslﬁo—yis:ssooyds
1 mle

padE

2. Inthe Tour de France, cyclists ride 3,653,
watch for unimportant information! ]
Relationship: 1 mile = 1.61 km

3653.6 ket t LT oo mi
1.61 ke

6 km over 20 days. How many miles do they go? [Hint:

3. After a nice meal, perhaps you'd finish it off with a pound cake for dessert. What would the name of
this cake be in grams?

Relationships: I1lb=160z;:1 0z = 2835¢

16 9% 2835
11 =2,
)3 K

g -
=453.6 g (A “453.6-g cake”
L o g g )

4. In the US milk is sold by the gallon, while in Italy it is sold by the liter. How many liters of milk
would you need to equal one gallon?

Relationships: 1 L = 1.06 qts; 4 gts = | gal

i 1%, 1L __
el lgéf'l.osﬂ( 3.771L

3. If you go to schoo] for 180 days each year and each day i
in school in one year? d day is 7 hours long, how many hours are spent

Information: 1 day=7h

ours (only for school)
180 92%  7hrs 1260 i

r = _<dhars
I (school) year ~ ; gay 1 (school) year

Turn over!




Instructions:

Complete the following metric equalities.
100 cm=
1060 mlL=

1 _kg=_1000 g
1 km=_1000 m
i kL= 1000 L

1000 mm= 1 m

1000 mg=_1 g

1000 ms=

1 s

1 Mg=10°g

Convert the measurements below as indicated. You can use scientific notation for very large or small

numbers.

1) 40mLtoL
40ml 1L
L 1000 ml

2) 5400 L to kL.

5400 £ |

I kL

1 '1000,L/
3) 85gtokg
85,g/! 1 ke
11000 ¢
4) 52mgtog

SZ;ﬂé! lg
1 1000 prg
5) 6300mt0km

6300 ;1{
" 7000 4

6) 2.50kgtog

=0.040L

Z=54KkL

=0.085 kg

7) 18,600 gtokg

18,600 £  1¥2 _ig6ke
1 1000
8) 544mLtoL
544 ;ﬂf =0544L
© 1000

9) 1.92LtomL

192 ¥, 1000mL _ 1550 mL
i 1

10) 425cmtom

s e 1M __azsm
1 100

11) 7870 mLto L.

7870 | 1L

1 1000 mC

12) 6.42 m to mm

642 /6 1000 mm _ ciog oy

1 1 ¥
13) 1850 cm to m
1850 pﬁ lm
| 100
14) 11.4kmtom

114 Jafl ,1000m _ 14 400 m

l—— 1 ki
15) 3 mto mm

=787L

=185m

32‘_{. t M: 3000 mm

!
16) 25 Mgto g

25 ME 108 _os51107 g

1 I ME
17) 74 cm to mm*

LT ORY.

____._-—

q 10096

18) 835 mg to kg*
835 g |

e

1 1000 pf

!

1

ke

1

1000

1Ooomm—wifo mm

-835110" kg



